A & ﬁ ? CIIOXKeHHUe Ipo0Oeit (ipaBuiibHasE APOOB)
(HempaBUIIbHAS IPOOD )

Nwms: Jara: Onenka:
6 6 2 2
— 4+ — = — 4 - =
5 8 9 5
5 6 3 1
4+ - = — 4 — =
4 9 2 7
6 7 5 2
8 8 2 8
3 4 7 4
g8 7 5 8
7 3 7 3
g8 2 5 4
3 3 3 1
4 7 9 2
7 4 2 1
-+ — = — 4 - =
2 9 5 2
3 5 1 2
4+ = — 4 - =
5 3 7 5
4 7 5 6
— 4+ - = — 4 - =
6 4 8 7
2 3 I 1
—_+ = — 4 — =
77 9 6
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CIIOXKeHHUe JIpo0Oeit (mpaBuiibHasE APOOB)

(HenpaBUIIbHAS APOOB)

2 2 28
4+ =
9 5 45
3 1 23
4=
2 7 14
5 2 11
4=
2 8 4
7 4 19
— - =
5 8 10
7 3 43
-4 = __
5 4 20
3 1 5

4+ ==

9 2 6

2 1 9
4=
5 2 10
1 2 19
4+ =
7 5 35
5 6 383
4 ="
8 T 56
1 1 5
4=
9 6 18
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Jlara: Orenka:
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